PROFESSIONAL

FSPE 80 - 151552

POS. - POS. -
No. Ref.No. Description No. Ref.No. Description
1 330482 Circlip B9-2 44 272828 Cradle
2 330289 Bearing 60927P63LDS18 45 272829 Counterweight plates
3 272849 Bearing cover 46 621822 Bearing HK 1015
4 126243 Fan 47 272804 Gear set
5 360373 Washer 8x15,5x1,5 48 805592 Pin5x14,8
6 330308 Bearing 6082ZP63LDS18 49 621824 Washer A 10,1x16x0,5
7 164934 Rubber bush 50 621959 Washer A 10,1x16x0,6
8 152083 Armature set 51 621960 Washer A 10,1x16x0,7
9 254961 Diffuser 52 621961 Washer A 10,1x16x0,8
10 272960 Claming pin 53 330081 Circlip B10-4
1 113971 Stator set 1ill 05.Feb.2013-53 330638 Circlip SW 10
12 254922 Brush holder set 54 330812 Bearing K5x8x10THN
13 305420 Brush with a switch fil 27.Mar.2012-54 621826 Bearing NK5/10TN
14 305421 Brush 55 272843 Holder
17 124083 Choke 57 272830 Bearing
18 254960 Guiding switch lever 63 150866 Screen
19 254959 Slide 64 300049 Piston guide
20 210493 Spring 65 132644 Screw
22 256500 Cord clamp 66 123246 Cover
23 361360 Screw K 4X9.5 TORX 20 67 361444 Screw J1-M5x10
24 114138 Cord with a plug 68 806644 Washer B5,5x16x1,5
24 120613 Cord with aplug 69 123247 Cover
25 206687 Cord protector 70 272824 Gasket
26 132644 Screw 71 150871 Gear cover
27 272806 Gearboxset 72 361440 Screw J1-M4x22
28 132644 Screw 73 205846 Spring
29 114031 Nut M5 74 621875 Pin AM6x48
30 300244 Leverset 75 175097 Base plate
31 300237 Spring 76 300395 Claming plate
32 360010 Spring washer 4H 77 360450 Screw M5X16
33 150870 Rollerset 78 272904 Spindle gear
34 300065 Pin 79 606738 Spanner4
35 621888 Pin AM6x28 80 124824 Adapter
36 272847 Gasket 81 272844 Gearboxset
37 621942 Pin 4M6x32 82 300045 Guard
38 272826 Bearing bolt 83 1562204 Pin from 01.05.2001
39 621832 Pin 4M6x36 105 150775 Electronic block
40 361507 Screw J1-M4x10- MK 106 128115 Body with cover
41 939405 Washer A 4,3x9x0,5 107 127379 Switch 4A
42 330487 CirclipB4 109 150872 Link set
43 621823 Washer A 10,2x42x0,5
42 41 37 36
34 3579 31 80
33— | \
76
—77 75"
127772 128399
SPARKY POWER TOOLS » 2018 @ 27



	Button 5: 
	Page 2711: 



